1 b
O ->= @ -4 s> 7 ®a+3<b+3
a b 1l-a 1




ol

3x+y=1°21<x<54d o, yo ¥

2.

® -16 ® -12 @ -8 B 4

@D =20






@ x>-2 @ x<1 ® -2<x<1

@ -2<x<1 ® = gty



HEXN4_x<3x-4<2x+ 25 ZH?

@O x<2 @ x>2 @ 2<x<6

@ x<6 B x>6



BS54 x-1<2& EH?

@ -1<x<0 ® -1<x<3

@ 1<x<3 @ x<-1E=x>3
1

® -<x<1

2



N ™
A A
= =
A
HooW
Yool ep\ [
\ Vv
= =
@ @
o™ <t Nej
AN AN AN
= = =
A
Mo o
1O [N | <D | O
\% \ \%
= = =
©@ © ©



x2-2x+1>0

o =
AHFESA = THEStH

Voo i E TESHE A A
X< —9x — <

rr

@D 770 @ 871 ® 970 @ 107 ® 117



i

ol

@1

Do



10. F54 ax—b? > bx+a? -89 of7} LE Ao0]7] Yt a 9

(a, b= A5)

® a=bol2-1<a<1
® a=b0l11 -3<a<3

® a=bo]1 -5<a<b

@ a=0b0°]1 2<a<?2

@ ag=bol2l

—4<a<4

Z A

a4t

o
—

?



11. ax+b>09 37t x <2 W, (a + b)x < 5b 9] Sl=2

D x>5 @ x>10 ® x<1

@ x<5 ® x<10



7T-2x>-3

A



@D 178

3(x—1)=2+4(2x-5)
2(3 - 2x) < —x + 10

@ 374 ® 57}

[e] Z =]
= THEo}

@ 6 71

rr

Fe] 35 x 9

® 774



3x+1> x 4

l‘_&

Al

E.
T o

4dx - 4<x+2

o?.i

lm

E

a,7V& 2 A2 pat

5]

Ck-
=R

2



2 42 Ao] vt ety

9]

HEA3x-11<x+1<4x-5 9




16.

3x—-3>-x+9

re

H =
PR 54

HEsle A4t 270 ), g

i
o

bx<4dx+a
grel Wl

1o

@D 3<a<4 @ 3<a<4 @ 4<a<h

@ 4<a<h B 5<a<6



<r

@ 2 ® 3 @ 4 ® 9}

@D 1






19.

200 YAt E) AT} 500 AAe] B0l Fote] 9 AE A, 1
2to] 2800 9 o4 3600 9 ©J5b7k 517 shef 3 @ek. Bgpob A
B A 4 5 AT

Y 7



)
®

Nl

<a

<a

<2

<5

w| ot

IA

IN



21.

ozttt y = f(x) o 2zt HA
y = glx) 7t & 9% 25 o, 5
A f(x) > g(x) & & FotH?

y=f(z)

12“2436



22. o FAS FA HEske A 1o AeE?

x? < 3x 440, 3x% — Tx > 40

@D 474 @ 57 B 671 @ 77 ® 87



BE5A |x? —4x-6/ <62 =

D -2<x<6
® x<2EE=x>6

® x<0EEx>4

ot

@ 0<x<4



o
&0



4)
@ - <x<3
® 1<x<4

® 2<x<3



26. BE 4% ol Heto] |/ —2(k-Dx+ 47k A4T} HES S
o grel Wel?

O -1<k<?2 @ k<-1E=k>2
® 2<k<6 @ k<2F=k>6

B k>6



27.

O|ZFRE-FA ax? + bx + ¢ > 09 7t @ < x < g ®, o]A}
Hex? —bx +a > 09 sl=2(H,a > 00]t})

1 1
D -——<x<-= @ B<x<-a
@ B
1 1 1 1
—<x< = > — < =
®ﬁ x< - @ x ¥ 3
1 1
® x>-=, x<——



28. ZEMy=x*-2x+3°] A y=2x+k EHt} §F I == A
k °] HIE Hotd?

D k<-1 @ -1<k<0 ® k>0

@ 0<k<l1 B k>1



x> =4>0
2x% +(7T-2a)x-Ta <0

2 WHESIE A7 38 AR W), 45 a9 O] WS Fohu?

D -3<ac<3 @ -3<a<?2 ® -2<a<"7
@ 0<a<T7 G 7T<a<10



30.

o 8 (x, y)7h A AHER] QL& AFS ¢

@ c>-1 @ c<=

3
® -1 2
<c<g



31.

xof

Zes ot A a

Fajolat,

Qo=

T3t o] A 42 — x4+ 9 = 00] x < 194 = Aol A
o] HolE 15} ¢ < ko|t}.

o] m, k]

A1 O
21 =
o
=2

13



OJAHFA A x2 — (a+1)x—3 =09°] 3 o] 3HT A1, T2 g L2
3HTE S 1, A% 00 ghe] WelL?

® a>-3 @ a>-1 ®a>1
@ a<1 B a<3



o 7k x = m Lo, = <] gre T3t



34. 419 Ae] £} Ao) Ae] $249] F ol oW F Ak A% 21
BTHAT 60 Hep ATk G 4G F A4 455 Faholet,

s
ct



BS54 a( 2-2x+1) > 2(x* - 2x—2)
o, &4 a 2] =7

D a>2 @ a>2

@ gt LE Al B a< +2

® a<?2



36.



37.

a<0<BO|LOJAREA ax?+bx+c<0dMWNta<x<f L€ H,

OS2 cx? + bx +a < 0 9] =2

1 1 1
O —<x<= @ -<x<-=
a B B a

1 1 1 1

B x<-Ex=x>-= @ x<-FE=x>=

a B a



38.

OJAHFA A 242 4 %Ux + k+2 = 02 AR T2 F AL 7k,

] 2
OIAEEA 12 —kx+k+3 > 07F A5 Alo] %17] $I5F A% kg

=

D 1-VE<k<1+ 5
@ 1-V5<k<1++5
® 2<k<l-VEE14+V5<k<6
@ 2<k<1-V5EE=1+V5<k<6

B 2<k<1-V5EEE14+V5<k<6



FRENZ Lax+b20, X2 +cx+d <0 FAO) UHES= x 9
HE7F -3 < x < -1 T x =22k S}
ol a+b+c+d2 S F5HA?

D —6 @ -5 ® -8 @ -10 6 -3



40.

OIAFYHA X2~ (p+ 1) x+2p—1=02] F o] F —22} 24}0]0]
U= A p o] gho] HelE FshH?

)
® p>5,p<1 @—Z<p<1 ® -5<p<3

@ p>1,p<-—-1 ® p>5p<-1



